


N a EE R P
> =4 (xmﬁ (1+457)
3. Ao () + Sin(ayy)=0
> (sectrty) YU+ )T fos i) ) (2t %) =0

(K,)’):(',\l) :> G\eéo ?}(H)) + (OOS D) (l+ iy/(H)
> =3

Moreover
[ 2 secOry)tan (x4 ) (Hj"g) +(secty)) ( ) \
— (S0 (x4 F) + [costitn) ) pH5E) = o

(7{/7): U-H = (_l' [ 0) U~_§)L+ 5%/0.“ '(l\ iz)d:}' / (ﬂi?z/am):“

o dY
= Irly

t‘*) - l



Smee Jo m 410 =)

Guen £50 , 28§ >0 st {’\D}’ all /\/ ;

@/\/\W

[y=LI<§ = |g-gtH)] <€

And since Jim Fro=| , fy the 8§50

38> st oy all 2,
NSNS AN N

SO AC<h D Jfo~L]< §
g e e G

®

= | 9(fw) ~ HL) | < €

Howe S 30N =g10_ (B, 0~©)




So Cinee F(X‘S"X [/ L Stx + ( )'X]'xm:

ll

ond g (A5t )y = (Il P Lcosx + (0 IA[ =111

e
= The smellese n=1 wd'.fiﬂ(’( SX ) o =11



L0t %) = ) + 0 (-x)

Lot Dog=stnx = L E)=sm(E)+cos@)(r-3)= L +4 (F)

= Sf”(@I\O.ol):‘P(% -00[ L(I\Oo‘ 7() ~oo|

Moreorer. | F(E-el) =L (Foo1, )< L mox [$)] (£ =001~ )L

36&-00[ 3]

T =
f-;X/o =5x/0




X ‘

|
= +{x) -..._{XHJ%—

1 +ug=

. o
— ——G“V—e” 2 7ffv+l - ”ﬁ = X %O 1) ==X,
t 1)

a

L thce >ﬁ< converje mZe 71'% f£ ~N <A, <A Omo/ a,/?/e{je Utﬁemfje
| -Ejgeg Z;E Ao = A ""-"-> X = —&A ond fAe (ternt/on 9 O )omcj( 01VIcJ ﬁ)fé_j_\_

_ s ool - el - ——

—_ | Leiwgerz @ mnc;' —A
(S8 %eGD | A vil ovege 0 4"




g,

ﬂx)=>{§(>r~|)3 = flo= :?flmf—k XA

= s 0 (S0 +3x)

(=) (1)
ER

=

> ogten] ports + A=0 7 |

> Boo when X>| o frex<| or ¥<o
{{ <o when 0X<F

> F has locel minmum GVR) ot A=
locnl maimum 0 ot x=o



| (0\)} Trve | | |
)’{‘: e [Tl [x], vxelR

> [fo]<lo(=0 = Proy=0
_(J\m V €50 }7(‘6/( J:é}() it
i preed H0<>~f(°>lzhf""(f”((.

| <Jj=¢
> 71: ¢ conthuows at Y=o



(b) Tre !

PF: Stee }%O‘)‘BX'H)I-{}X’U L

5

::> } «F(o)-;-_)_lél()/,';o => -F(o) =)
,/ x)~@) _ lm ﬁx)-z 0007 131
= Jim n —

xS0 A

(Y

- - < B e

nd JQE }_7”05:0
. )M—w =0 ()% Sanw;cA -élmrem)
)(\)O

o B = 04323

= )D IS JZFfererrt(v\Ue ot X=0



	1
	23
	4
	5
	6
	7
	8
	9.pdf

